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Scratch off the best response on the IF AT card.  Each question number corresponds to the number on the IF AT card:

9) Calculate the ARR and NNT for Prozosyn plus scorpion antivenom vs Prozosin alone

	
	Resolution of Scorpion Envenoming Syndrome
	

	
	No
	Yes
	Total

	Prazosin plus antivenom
	3
	32
	35

	Prazosin
	27
	8
	35


a. 0.68 and 3 
b. 0.32 and 3
c. 0.32 and 2
d. 0.68 and 2
10)   Calculate the ARR/NNT for the effect of the Lidcombe program on stuttering
	% syllables stuttered
	Lidcombe program (n=27)
	Control group (n=20)

	<1.0 %
	14 
	      3


a. 0.52 and 2
b. 0.37 and 3
c. 0.21 and 5 

d. 0.15 and 7
11)  Pick the statement that best fits the explanation of NNT (number needed to treat)
a. The number of randomized patients needed to complete one per-protocol treatment over and above the observed rate in the control group

b. The number of patients one needs to treat to substitute for one patient who is lost to follow-up (in an intention-to-treat study)

c. The number of patients in the control group who received active treatment
d. The number of patients one must treat to provide benefit to one patient
12)  “At the time of arrival in the emergency department, seizures were absent without rescue therapy in 329 of 448 subjects (73.4%) in the intramuscular-midazolam group and in 282 of 445 (63.4%) in the intravenous-lorazepam group.”
If the ARR is statistically significant, which of the following is its most likely 95% confidence interval?

a. [0.04, 0.16]

b. [-0.04, 0.1]

c. [0.004, 0.1]

d. [0.14, 1.16]
